—— A
N = 0] &F AF S & AN A
2022 = 20l A LBHSIH AFSI = X D
SN ARSI =X B
HH: Lol2X S
e Zo=EX =0X& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o gﬁ‘&i HRE2
ALS S X 113,426,746 102,016,075 11,410,671
= 69,546,409
Jl 126,211
& 10,869,427
Al 32,884,699
LosXsA 81,187,607 74,783, 146 6,404,461
= 54,783,099
J| 43,313
& 7,111,448
Al 19,249,747
ColEX 20X 64,896,590 61,162,660 3,733,930
= 54,668,449
J| 43,313
o= 1,852,259
Al 8,332,569
=32 X2 53,836,741 50,792,258 3,044,483
= 48,453,067
o= 1,076,735
Al 4,306,939
301 et M= 53,836,741 50,792,258 3,044,483
=2 48,453,067
= 1,076,735
Al 4,306,939
01 A& A 252 53,836,741 50,792,258 3,044,483
OJI=AZ(15,654H) 53,836,741,000& 53,836,741
= 48,453,067
& 1,076,735
Al 4,306,939
Lol xie] Y ASESHE S (=oYXel & A 7,925,148 7,464,954 460,194
Slgs EHA XNE)
= 3,962,574
= 594,386
Al 3,368, 188
307 2I2t0| ™ 7,925,148 7,464,954 460,194
=2 3,962,574
= 594,386
Al 3,368, 188
11 Al EXAIEEX 7,925,148 7,464,954 460,194
OwolgXial U ALBIZE IR (2,0458)
7,925,148,000& 7,925,148
= 3,962,574
o=t 594,386
Al 3,368, 188
Colxtel L ASESKE SH(DXTe L A 404,235 359, 268 44 967
S|E8s MEola olAY|)
2 202,118
& 30,318
Al 171,799
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= W

,070,
963,
74,
32,

000
000
900
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A S XA E X
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=z N H
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250,000
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i
0
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A 103,800

307 glztol &

= MW
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1,657,640

A 103,800

1,553,840,000&

=z N W
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69
396
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,230

1,657,640

A 103,800
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6
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,000
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= N
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6
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1A SXAIE E =
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H
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6
14
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M AR =X
dH: Lo=XSH
el o= mu 2 CERED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
SAHke S AEIA X- 86,626 68,540 18,086
| 43,313
Al 43,313
307 2Iztol ™ 86,626 68,540 18,086
J| 43,313
Al 43,313
10 M3 SXNANEHIS2IHEX 86,626 68,540 18,086
OSHLQ STOUHTOANHIAAE X2 (3202
) 86,626,000 86,626
| 43,313
Al 43,313
LOI=X LEtXA 14,965,198 12,401,995 2,563,203
< 5,151,750
Al 9,813,448
LosEla 2 961,149 917,862 43,287
= 57,000
Al 904,149
307 212+0| & 961,149 917,862 43,287
= 57,000
Al 904,149
05 BIZHRI & 3 961,149 917,862 43,287
Okol=sXa& A (e2dl) 734,484
-=0(16¥) 527,714,000& 527,714
< 57,000
Al 470,714
-2 (16Y) 88,267,000 88,267
-EANYZ 49,929,000& 49,929
-AEEEEREE3 56,706,000 56,706
-JIEt= 43| 11,868,000& 11,868
Oko=xa A (22l) 226,665,000 226,665
LOo=EX2 & SAAN HRHMLH] 10,200 10,200 0
< 10,200
301 getEd 3 10,200 10,200 0
< 10,200
01 Al EE H =56l = 10,200 10,200 0
Okol=Xa & SAX MRHMAH
50,0003 x17H «128 10,200
< 10,200
CoUTel U ASIEENR SO (LU 3| 105,202 102,804 2,398
2 JE(dHorzw3g))
< 30,600
Al 74,602
307 glz2tol & 105,202 102,804 2,398
= 30,600
Al 74,602




T AFS

S
o=x=E
o= YP KA

- _ _ RE]
CEE O (BA) - HRAY - BAS ol &k o8 %Eﬁ
05 QIZ2tR E 2 105,202 102,804
Oaolaaeig 29 (o1AHY|) 102,802
=20 (2%) 74,665,000 74,665
& 30,600
Al 44,065
-Mx=&(2¥) 11,638,000 11,638
-EANEZ 7,192,000 7,192
-A3BESREZ2 9,307,000& 9,307
Oalbolaawy 2H (29 H|) 2,400,000 2,400
ol Xtel SAFAF AR A HD (=Y Xtel =8| 9,600 9,000
EAMX ™HRMAH)
& 9,600
301 et A= 9,600 9,000
& 9,600
01 Al E & A 462 9,600 9,000
Orodxiel £=sI|& SAX HRMAHI
50,000 «16 x12& 9,600
& 9,600
ol Xtel =so|2 L SALAH X & 10,000 10,000
& 3,000
Al 7,000
307 2iz2to| & 10,000 10,000
= 3,000
Al 7,000
11T AISIEXAIEEX 10,000 10,000
OLolgdrtel £8)|2 SHAEY X (200 A)
10,000,000 10,000
& 3,000
Al 7,000
LOIOIEAIE SAAN EL224E 26,400 24,600
& 2,640
Al 23,760
301 et A= 26,400 24,600
& 2,640
Al 23,760
01 A3 E & A 462 26,400 24,600
OLEX2 & SAML EL£222(15H)
26,400,000 26,400
= 2,640
Al 23,760
LOIOIZ2AIE(LoYXE) SAR Ex22E 3,600 3,600
== 360
Al 3,240
301 et A= 3,600 3,600
& 360
Al 3,240




AN ALEI =X

By Lo=xEd

Sl Lol=X YRR CEEEED
= SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 A3l EE & 56l = 3,600 3,600 0
OLQ0IBAE(LOUR2) BAK S222%
g (2y) 3,600,000& 3,600
< 360
Al 3,240
COIAEAY 36,535 35,520 1,015
< 10,961
Al 25,574
307 glz2tol & 36,535 35,520 1,015
< 10,961
Al 25,574
0 ASISXANEHER2IHED 35,035 34,020 1,015
Ol A& A (10H4) 35,035,000& 35,035
< 10,511
Al 24,524
11T M3 SXAISEEX 1,500 1,500 0
OLQl Ae|AEAI (10HA) 1,500, 000& 1,500
= 450
Al 1,050
ANZEQAEHH Ex2242 K& 1,200 0 1,200
= 360
Al 840
301 LEd = 1,200 0 1,200
< 360
Al 840
01 MI2EZE 6= 1,200 0 1,200
OLolaedE SAX SEx2222(19)
1,200,000% 1,200
< 360
Al 840
SHEO Jtulol@stRAs 28 K& 10,000 10,000 0
= 3,000
Al 7,000
307 gl2tol & 10,000 10,000 0
= 3,000
Al 7,000
11 AL S XAEE = 10,000 10,000 0
OSAHLQ Jtdlol&dstA 28 X2 (1HA)
10,000, 000& 10,000
< 3,000
Al 7,000
MAS MOt AAMBHE 189,000 189,000 0
< 18,900
Al 170,100
307 21201 A 189,000 189,000 0
< 18,900
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Akl = X1 ot
Lo=EXsd
SIS LetXE

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 170,100
11T MISXASEX 189,000 189,000 0
OMAS Il AAMEHE
3,500 «180H x25 « 128 189,000
< 18,900
Al 170,100
LOILZQAANLEBMIL E222H 55,680 69,120 N 13,440
< 5,568
Al 50,112
301 LEAZ 55,680 69,120 A 13,440
S 5,568
Al 50,112
01 MEI2EZE 06z 55,680 69,120 A 13,440
OLQUAZRAANLEEMNIL S222+2 XSS
59¢) 55,680,000& 55,680
< 5,568
Al 50,112
LOIAZRAANE J=dE+-g X XE S 14,054 13,533 521
< 1,406
Al 12,648
307 glz2+ol & 14,054 13,533 521
= 1,406
Al 12,648
11T M3 SXAISE EX 14,054 13,533 521
OLAZRAAL J=Maxgad Xt XA (27F)
14,054,000& 14,054
= 1,406
Al 12,648
LIRS ANESH 9,069,488 7,139,000 1,930,488
< 4,534,744
Al 4,534,744
307 gl2tol & 9,069,488 7,139,000 1,930,488
=3 4,534,744
Al 4,534,744
11T M SXAISE EX 9,069,488 7,139,000 1,930,488
OFIILY AIEZKW(350%) 9,069,488,000& 9,069,488
< 4,534,744
Al 4,534,744
LOEILRY MHISX 3,300,857 2,754,000 546,857
< 330,086
Al 2,970,771
307 glz2+ol & 3,300,857 2,754,000 546,857
< 330,086
Al 2,970,771
11T MISAASEX 3,300,857 2,754,000 546,857
OFJILSY MIUSH(2174)  3,300,857,000& 3,300,857




o o o o o o (2] (o)) (e} ()] o o o o o o o
(e} (e} (e} o o o < < < A [V Al o o
A ©|© © > . 5
Klo
El
o
o o o o o o © © o © o [e] o o o o o
o o o (e} (] (e} o o o o [N Q [e6] o < < o
[aV] [aV] [aV] (e} (e} © 0] (e} [aV] © (o0} Yol o o] (V] [N} o
< < < © | o | < o | o |« o) o
© [(e] [<e] [oe] < ™ <
LH3r
uilkEd!
RS
O — o O o O o o O o O o O o o O Yo} Yo o o L Yo} N~ (e} < [e0} o o o o o o o o o o o o
O I~ o O o O | O o O o O o O o o O O [Te] o o o] Yo} [e0] o Q © < o o o (e} o (e} (e} < < < o
o O < < < << < < ™ [ep] [aVEENaN] — — O ©O© — o™ Yo} <t < NN o w0 Yo N~
ar N
<
=3
H < 0 0 H 0 0 0
o oW o I ® = W = o K gl
l o o o o O o o o - o K N
T K8 = s 8 8 s ¥ S W8 7 7
> > > > S
ar =R =g S S 38 S @ S xS Rl
X0 o * x © « ® N ® < 8 Q < o) x
Y =% = a SR NS RS &
. oS oF © 0 A S
5 RS =] = = ©
mm Ll .3 il - _;._ Al
=< = = = R Bl o
~ - =~ - T
oF @ oF o ) 50 1 5l oF x
x = = - R OK o - Ar R 20
. . . ~ _ o
— = M = M oK “ w ol Moo W_ﬁ m
= < m = =< m = o Koo & = w = T % 5
o K0 s 0 K0 B 20 =l B w S wow TR = W s
B < < < o =< a7 R W oo - a0 ok = 3
) 5 il RTOKD =] o R = W Wl 00 _|D|3|Z R D@ RI|MMNR I+
z e R BK z Rl K 3 Flrljam = 4338 53|58 |8 o ks o™ lo o ak
- 10 ™ H ol 0 iy o oM Tl moa m o g S B I e e v 5
[ o 3 o A 5! 3 w0 & ol T R BV Pl=< |3 |or A A Mo A AR |3 |T A~ |
RO | oll < O B ol < O ol |a|al O @ O Rlol | O O A O O ol [~ O =<
. oK — — ol — — Hl~ o ™ 0| =|= N — |y —
— (e} o o o - o o o o o o o — (e}
g oJ ™ mo ™ 0 | ™ | IS5} <
* A 0 = o




S ASI=S XD
Ha: L=NEA

ool LoI=X YEHK CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 A& HI 87,000 40,000 47,000
OS&ERX B 40,000,000& 40,000
OSERX 22ARA &X 47,000,000& 47,000
405 XHobF S HI 3,000 0 3,000
01 AL 2 ZFH S| 3,000 0 3,000
OZeAIR A I EHIOIS, X, MA, HE
- 1,300, 000& 1,300
OztelAtEa &0, BIIHEEI], &Xd X
- 800,000 800
OztelAtS A detet) 2¢ 900,000 900
Jlz=de =g s+l S 387,292 371,000 16,292
< 116,188
Al 271,104
301 LBEXS 387,292 371,000 16,292
= 116,188
Al 271,104
01 A3l EE E 563 387,292 371,000 16,292
OJNZME +3L0 FSU
50,000& %1, 150H 53 287,500
< 86,250
Al 201,250
OMas ko H228dz XI& 99,792,000 99,792
< 29,938
Al 69,854
Lo=sSXNEE MEaeeEs) 7,056 6,660 396
= 2,117
Al 4,939
307 21201 A 7,056 6,660 396
< 2,117
Al 4,939
1A S XA E X 7,056 6,660 396
OL=X E2ES 5,250 x 11200 &+ 12 7,056
= 2,117
Al 4,939
COIEAN & EHH2YE 449,650 475,600 A 25,950
201 L2l 8,900 9,100 A 200
01 At 22l 8,900 9,100 A 200
OZ2Y 2IGAJs F&+=2 100,000 x6H 600
OMBISXIIZMoAE Baay
100,000 5% »23| 1,000
ORI XNE AMRA-E EHodxH
100,000& x4H x 123 4,800
oRg3azg &8 MH 200,000& 34 2 600
OLQAHAIY B2 & 29| 1,300, 000& 1,300




SN ALSI S X
By Lo=xEd
el L oI=R| YLK CER-ED
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O3J183F)| itz 50,0003 x1CH*12& 600
202 oddl 500 2,250 A 1,750
01 = LH 4 1l 500 2,250 21,750
OLo=X & FAGRFE(8Y) 500,000& 500
203 R =&l 5,000 5,000 0
03 Al =X A2 =X 5,000 5,000 0
OAMEIEX AI#Z=ZRHSZZHl 5,000,000 5,000
301 LPEXZ 435,250 459,250 A 24,000
01 MEIBEZE 06z 432,000 456,000 224,000
O&sLolxY 20,000& 1,800 x12& 432,000
09 ALAHIXIE S 3,250 3,250 0
OZ2EsE W= 130,000& »25H 3,250
Lolol & HALKIE 11,000 11,000 0
307 glz2tol & 11,000 11,000 0
11 AS S XAEE = 11,000 11,000 0
Okelod A2l 11,000, 000& 11,000
HB0lE AKX 50,000 50,000 0
201 L2l 50,000 50,000 0
03 A2 Z Hl 50,000 50,000 0
OHOolg ALK& 50,000,000& 50,000
nNINHEAN SZol(eaE) XA 12,000 10,000 2,000
301 LPEAF 12,000 10,000 2,000
12 JIEtE 43 12,000 10,000 2,000
OnguH=zd otSt=2 |Z 0 K& (200¥)
60,0002 x200H 12,000
HX 5= 2d X3 6,640 6,640 0
< 3,320
Al 3,320
301 LEAZ 6,640 6,640 0
< 3,320
Al 3,320
12 JIEtEA 3 6,640 6,640 0
OHX &= 2l X&(50Y) 6,640,000 6,640
< 3,320
Al 3,320
SH-W SHdte HBO0IE A 4,000 4,000 0
201 Let24d] 4,000 4,000 0
03 &Ar2 Z I 4,000 4,000 0
OSAHL2u &Holts HHOIE A
5,000& *800H 4,000




A AMIEX
By Lo=xEd
el L oI=R| YLK CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
F oL Ol ASEIAAHIA AFY (SR 0l &) 20,000 0 20,000
== 6,000
Al 14,000
307 2Iz2t0| A 20,000 0 20,000
o= 6,000
Al 14,000
11 A EXAIEEX 20,000 0 20,000
OFlotcol ASYANYA K
100, 000& »200H 20,000
& 6,000
Al 14,000
dzE X 1,115,719 1,035,491 80,228
= 114,650
= 107,439
Al 893,630
A2 245 X (2d9d| AH)(EHl) 206,460 206,460 0]
& 20,646
Al 185,814
307 212t0| & 206,460 206,460 0]
o= 20,646
Al 185,814
11 A EXAIEEX 206,460 206,460 0
OZ=2% 29l K& 155,000& 111 A x12& 206,460
& 20,646
Al 185,814
A2 245 XIRF(HH) 195,979 138,057 57,922
307 2iz2tol & 195,979 138,057 57,922
10 M SAANEEHESIGHEX 31,869 28,857 3,012
O Tz A 31,869,000 31,869
11 Al EXAIEEX 164,110 109, 200 54,910
OZzd FIF 294l XN
100,000 x 11000 A x12€ 132,000
OZ2Y Tzl XN (XHA) 30,000,000 30,000
OZ2Y X2 KNIA(3MA) 2,110,000& 2,110
A2AGE 234 300,960 300,960 0
& 30,096
Al 270,864
307 giztol A 300,960 300,960 0]
& 30,096
Al 270,864
11T A EXAIEEX 300,960 300,960 0
OdzAaY 2224 3,000 *380H x22 «12& 300,960
== 30,096
Al 270,864
A2 43 N(=z=203d] X)) 12,000 12,000 0
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X ZH -
L= B

el

NEES
C=XEA
B2y

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 1,200
Al 10,800
307 glz2tol & 12,000 12,000 0
< 1,200
Al 10,800
11T M SXASEEX 12,000 12,000 0
OZeg Ty X 12,000,0002 12,000
= 1,200
Al 10,800
22Y SIAAMEHZE 29 N& 20,000 0 20,000
< 6,000
Al 14,000
307 21201 A 20,000 0 20,000
< 6,000
Al 14,000
11T M3 SXAISEEX 20,000 0 20,000
OY2Y SXNMIEHZE 29 N
10,000, 000& »2H 20,000
< 6,000
Al 14,000
FRAYH A2 (TH) 51,120 32,640 18,480
< 5,112
Al 46,008
307 21201 A 51,120 32,640 18,480
< 5,112
Al 46,008
11T MISAASEX 51,120 32,640 18,480
OZ=Z A Y FHAR A AHH(3H)
1,420,000 «3H «12& 51,120
< 5,112
Al 46,008
dz2Y 243 XA (MISAESH X&) 99,900 99,900 0
< 9,990
Al 89,910
307 glz2+ol & 99,900 99,900 0
< 9,990
Al 89,910
11T MISXASEX 99,900 99,900 0
OZ2Y AslZAESY
75,0003 #1110 2128 99,900
< 9,990
Al 89,910
Y2Y Wuy L %¥3H XY 229,300 239,924 A 10,624
= 114,650
< 34,395
Al 80,255
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X{ XH -
S =

Akl = X1 ot
Lo=EXsd

Sel: F2YN (29l 8)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
301 LEHZ 229,300 239,924 A 10,624
= 114,650
< 34,395
Al 80,255
01 MEI2EZE %06z 229,300 239,924 A 10,624
OZ=zg Wutey] 2 =24l XJ(111HL)
229,300,000 229,300
= 114,650
= 34,395
Al 80,255
LOI=EXDEtE S 210,100 183,000 27,100
FZAE &= 210,100 183,000 27,100
201 Let249] 4,600 3,000 1,600
02 3323l 4,600 3,000 1,600
o&dzgd 28 =l 3,000,000& 3,000
O&Xzs B2 s2J |RXNE= 1,600,000& 1,600
401 A& BIZ 201 8I 150,000 150,000 0
01 A& HI 150,000 150,000 0
OZ2Y 8Us At Y 150,000, 000& 150,000
405 XHoHF S HI 55,500 30,000 25,500
01 XL 2 Z FH S| 55,500 30,000 25,500
OZ2g 28 7Y (B8 )
39,500,000& 39,500
OZ2Y HWgI| 2L (1404) 16,000, 000& 16,000
ZoHe =SS 18,528,641 15,876,269 2,652,372
= 9,172,147
| 600
< 1,666,364
Al 7,689,530
ZOeI=X =210X & 13,354,519 11,189,361 2,165,158
= 9,133,966
| 600
< 673,295
Al 3,546,658
Zoel Az =06 X= 3,179,714 3,215,013 A 35,299
= 2,225,800
< 190,783
Al 763,131
301 LEXZ 3,179,714 3,215,013 A 35,299
= 2,225,800
= 190,783
Al 763,131
01 MEIBZE 05z 3,179,714 3,215,013 A 35,299
OFML Az 2 XS3(1,006%)
3,179,714,000& 3,179,714
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el
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S =

NEEpin
=z
Zoje=x 2D
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 2,225,800
& 190,783
Al 763,131
O (IIxE) NS 404,188 361,560 42,628
= 282,932
= 18,188
Al 103,068
301 et A= 404,188 361,560 42,628
= 282,932
o= 18,188
Al 103,068
01 Al E & A 462 404,188 361,560 42,628
OZM== (=) XNS(867H) 404,188,000 404,188
= 282,932
=} 18,188
Al 103,068
S (XA S) XS 296,824 261,082 35,742
= 207,777
= 13,357
Al 75,690
301 dEtE M= 296,824 261,082 35,742
= 207,777
& 13,357
Al 75,690
01 Al B & X 46 2 296,824 261,082 35,742
OXMHLEH (M S)KS(497H)
296,824,000 296,824
= 207,777
= 13,357
Al 75,690
oo =220 AH 7,728,000 5,729,413 1,998,587
= 5,409,600
& 347,760
Al 1,970,640
307 212t01 & 7,728,000 5,729,413 1,998,587
= 5,409,600
& 347,760
Al 1,970,640
11T A EXAIEEX 7,728,000 5,729,413 1,998,587
OXHQ ESXNRZSUH KR (343H)
7,728,000,000& 7,728,000
= 5,409,600
= 347,760
Al 1,970,640
SEHHO E2ASIA 1,920 1,920 0
=2 1,344
& 86
Al 490




2AM: ALE
XN
el s X Ol

S
o =2XEA
oI=x =X

=

= A

CHE - EI(BA) - NRAY - BYS

Off &t 24

=

i
2m

307 21201 &

= N H

1,920
1,344
86
490

,920

1

1A S TIALY 2 &
[¢]

oL SL2aAEXA(1H) 1,920,000

= HmnH

1,920
1,920

1,344
86
490

,920

Ol
Ol

= Hn W

22,800
15,960
1,026
5,814

123

6,677

307 glztol &

= Hn W

22,800
15,960
1,026
5,814

123

6,677

22,800,000&

= M W

22,800
22,800

15,960
1,026
5,814

123

6,677

gt Gt
=22

MeMblA HBHRH K&

= N W

282,960
198,072
12,733
72,155

260,

22,046

307 glz2tol ™

= N W

282,960
198,072
12,733
72,155

260,

22,046

1

1M SETAEE X

OLLEMEMUIA HIRH XA (131Y)
282,960,000&

= N H

282,960

282,960
198,072
12,733
72,155

260,

22,046

2 OH

Sl Xtel KA (S XL Xtel)

= N H

515,179

257,590
38,638
218,951

452,

258

62,921

= N H

515,179
257,590

38,638
218,951

452,

258

62,921

04 JIZAtNZ22XNSE+

OFOHl LTt X2 (SXLAtel)(80Y)
515,179,000&

i

515,179

515,179

452,

258

62,921




2N
CEe =X

el

X ZH
S =

AYEl = X1 Bt
=
ZojoIZX 20X

=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= Hn

257,590
38,638
218,951

oYX X3 (et dRel)

= N H

547,888
273,944

41,092
232,852

521,350

26,538

= N H

547,888
273,944

41,002
232,852

521,350

26,538

04 JIZtN 22 XS+

OFMHA LRl N (L& dRel)(209)
547,888,000

= MW

547,888

547,888
273,944

41,092
232,852

521,350

26,538

ZOf ol X2l K& (Al 2EH L Xtel)

Z W

124,150

62,075
9,311
52,764

91,928

32,222

= W

124,150
62,075
9,311
52,764

91,928

32,222

04 JIZtNZ22XNSE+

OO Xtel X & (Al 2HHI 2 Xtel) (9)
124,150,000

= N

124,150

124,150

62,075
9,311
52,764

91,928

32,222

gojelezs X&

H

Al

239,843

191,874
47,969

267,340

N2T,497

308 XM S0IH

239,843

191,874
47,969

267,340

N2T,497

239,843,000&

W

Al

239,843

239,843

191,874
47,969

267,340

N2T,497

H

Al

3,573

2,858
715

2,500

1,073

H

Al

3,573

2,858
715

2,500

1,073




2N

X ZH
S =

el

Akl = X1 ot
DM =X
o=

B3
20%

=

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

01 A28 H =62

OO ExJ1J X2 (7Y4) 3,573,000&

= H

3,573
3,573

2,858
715

2,500

= MW

1,280
640
96
544

1,760

A 480

= H W

1,280
640
96
544

1,760

A 480

O
>
B
an
0
2
e
[pal
i
=3
He
oY

AbHI X2 (36%)
1,280,000

= HnH

1,280

1,280
640
96
544

1,760

A 480

e
0x
03
=
o
I
z
=4
010
=
T

= HnH

5,000
3,500

225
1,275

5,000

= Hn W

5,000
3,500

225
1,275

5,000

5,000,000&

= M W

5,000
5,000

3,500
225
1,275

5,000

a

ZOHO SSHHLHAHA ALY

Al

1,200

600
600

1,200

307 21201 &

Jl
Al

1,200

600
600

1,200

O SSAHMLBMHIA XA (10Y)
1,200,000&

1,200

1,200

600
600

1,200

02
2
re
J
P}
e
T
il
Y

4,

3,

527,073

38,181
872,230
616,662

4,097,607

429,466

in
=5
03
2
1
o

192,200

172,200

20,000




2N
e =SXsN
=AU REE PN

X ZH
S =

el

Akl = X1 ot

ot x| &

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

= 76,880
Al 115,320

301 LEAZ 192,200 172,200 20,000
< 76,880
Al 115,320

01 A3l EE E 56l 3 192,200 172,200 20,000
OZHl H0h 2 (409% ) 192,200,0002 192,200
= 76,880
Al 115,320

o= 24 1,403,016 1,370,997 32,019
= 70,000
Al 1,333,016

307 21201 A 1,403,016 1,370,997 32,019
< 70,000
Al 1,333,016

05 QI & 3 1,403,016 1,370,997 32,019
OFer=x2 29 1,315,576
-o12A4 4| (259) 879,741,000& 879,741
< 70,000
Al 809,741
“M=g 121,568, 000& 121,568
-—EANYZ 88,217,000& 88,217
-AEEEEREEH 3 109,450, 000& 109,450
-2dHl 116,600, 000& 116,600
O =X2 Al 23 87,440,000 87,440

ZOHQAEIIAFAIE 29 248,821 260,734 A 11,913
< 24,882
Al 223,939

307 21201 A 248,821 260,734 A 11,913
< 24,882
Al 223,939

10 ALSISXAIEEE2GHEX 248,821 260,734 A 11,913
OZBOMHAHIINFALE 25 248,821
-0l 4l (4%) 137,627,000 137,627
< 24,882
Al 112,745
-H=< 46,459,000 46,459
AN Z 17,227,000& 17,227
-AEEEEREE 3 20,756,000& 20,756
-2dH4l 26,752,000 26,752

ZOHUAF2UHESAE 23 261,370 253,170 8,200
< 26,137
Al 235,233

307 ©I2+0l & 261,370 253,170 8,200
= 26,137




AN ALEI =X

g Foje sxsd

Sl MOjI=R LUK R CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 235,233
10 ALSISXAIEEE 22X 261,370 253,170 8,200
OHUMAF=AESAIE 2 261,370
-0l 4l (5% 162,263, 000& 162,263
< 26,137
Al 136,126
M= 32,648,000 32,648
SN S 16,243,000& 16,243
-ASIEERE S 16,617,000& 16,617
-2gl 33,599,000 33,599
=S 29 204,520 228,300 A23,780
< 20,452
Al 184,068
307 21201 A 204,520 228,300 A 23,780
< 20,452
Al 184,068
10 AL SXNAIEEE2EHEX 204,520 228,300 A 23,780
=HEQHH 29 204,520,000 204,520
< 20,452
Al 184,068
ZOHQ MBOISNAME 2 139,290 140,200 A910
< 13,929
Al 125,361
307 glz2+ol & 139,290 140,200 A910
< 13,929
Al 125,361
10 ALSISXAIEEE 22X 139,290 140,200 A 910
OFfeIMaolskAdE 2% 139,290,000 139,290
< 13,929
Al 125,361
ZUASKAL(ZHHLHATHEANLE) 22 XNRA(7TE) 62,250 66,583 24,333
< 6,225
Al 56,025
301 LA F 12,300 10,800 1,500
< 1,230
Al 11,070
01 AR 2Z A 353 12,300 10,800 1,500
OXATHEANESAI E22ENE(7E)(8
) 12,300,000& 12,300
< 1,230
Al 11,070
307 2I2+0 & 49,950 55,783 A5,833
< 4,995
Al 44,955
10 ALSISXAIEEE2GHEX 49,950 55,783 25,833




2N
X ZH -
L= B

el

AVEl = X Bt
Zojel =NEA
TOjeI =X YK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMA=EXAE 28 XN (7E)
49,950,00094 49,950
< 4,995
Al 44,955
ZOASKAIE AT XS (4B) 7,296 7,296 0
< 2,189
Al 5,107
307 gl2tol & 7,296 7,296 0
< 2,189
Al 5,107
11T ASI S RAEE = 7,296 7,296 0
OZONQUSTAIL LAT X (45)(322)
7,296,000 7,296
< 2,189
Al 5,107
ZOHASXAIE SAN MROH&H 27,000 25,200 1,800
< 27,000
301 LA F 27,000 25,200 1,800
< 27,000
01 MI2ZE 6= 27,000 25,200 1,800
OBOAHTAIL, HOHAXAANSMEANE =
AKX M IHSHI (459 ) 27,000,000 27,000
< 27,000
ZOHQZRIAIE SAK H 2SI (04O X & TH & Al 4,800 4,800 0
8)
< 4,800
301 LPEXSZ 4,800 4,800 0
< 4,800
01 MEIBZE 06z 4,800 4,800 0
OFMHASATHEAI L SAK HLMLH XA
8g) 4,800,000& 4,800
< 4,800
ZOHAXAASI THEAE SAA E+=22E X2 11,400 12,000 A 600
< 1,140
Al 10,260
301 LEAZ 11,400 12,000 A 600
< 1,140
Al 10,260
01 MEIBEZ X +05l= 11,400 12,000 A 600
OQUEOISHE, =0SAUEH SAL S22
> (7E) 11,400,000& 11,400
< 1,140
Al 10,260
ZUUAH=AE 29 X (68) 20,400 20,600 A 200
< 2,040
Al 18,360




2N
X ZH -
L= B

el

AVEl = X Bt
Zojel =NEA
TOjeI =X YK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 LEHZ 16,800 12,000 4,800
< 1,680
Al 15,120
01 MEI2EZE 45z 16,800 12,000 4,800
OFMANFAYE E+2R2LXNA(65)(6Y)
16,800, 000& 16,800
< 1,680
Al 15,120
307 glz2tol & 3,600 8,600 A5,000
< 360
Al 3,240
10 AL SXAIEEE2EH EX 3,600 8,600 A5,000
OZOMLANFAIE 2E XA (68) 3,600,000& 3,600
< 360
Al 3,240
ZOAH=ALE AT X (4B) 3,695 0 3,695
= 1,109
Al 2,586
307 glz2+ol & 3,695 0 3,695
< 1,109
Al 2,586
11T MISRASEX 3,695 0 3,695
OQFOMANFALE 22 XA (45)(9Y)
3,695,000& 3,695
< 1,109
Al 2,586
ZOHATHII=XAIE BSAA E=2RE 52,800 52,200 600
< 5,280
Al 47,520
301 LBEXS 52,800 52,200 600
= 5,280
Al 47,520
01 MEIBZE+06l= 52,800 52,200 600
OS2 FHUFAESAIE SANL S
2222 (30Y) 52,800,000& 52,800
< 5,280
Al 47,520
Q=X RE DEHE ZelAAE 29 4,320 1,400 2,920
201 Let24E] 4,320 1,400 2,920
02 =224l 4,320 1,400 2,920
OAAE KK E=H 360,000& 128 4,320
ZOHQ RS MEHEH X 202,400 166,273 36,127
< 82,400
Al 120,000
301 LA S 2,400 2,400 0




SN AT D
HE: Fojel 2NSA
9l FOHQIZX LB

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 2,400
01 Al B & A 462 2,400 2,400 0
OFMHATIEMBHME SAX HRHAY X2 (
49H) 2,400,000& 2,400
= 2,400
307 2I2+0 & 200,000 163,873 36,127
< 80,000
Al 120,000
03 QIZIHEHESIHIEX 200,000 163,873 36,127
ORONQIXIR MEBME KA(1HL)
200,000,000& 200,000
< 80,000
Al 120,000
ZOHCITHIIEXAIE 29 X (2E) 14,200 12,200 2,000
& 1,420
Al 12,780
307 2iz2to| & 14,200 12,200 2,000
& 1,420
Al 12,780
10 MM SAANEEHESIGHEX 14,200 12,200 2,000
O&oe=2X 2, HMAFTAESAE 29X
25) 14,200,000 14,200
& 1,420
Al 12,780
o3 e 29 XNH 86,760 0 86,760
= 26,028
Al 60,732
307 2Iz2to| A 86,760 0 86,760
= 26,028
Al 60,732
10 MM SAANEEHESIGHEX 86,760 0 86,760
OXOI3raEH 29 86,760
-1 24| (29) 49,560, 000& 49,560
= 26,028
Al 23,532
-H==g 12,070,000 12,070
-EANE 2 5,136,000 5,136
AN BEEE= 6,755,000 6,755
-2 %4l 13,239,000& 13,239
Al HOHQIHEHOIAIAL DKM 29 75,000 75,000 0
=} 22,500
Al 52,500
307 QI2t0| ™ 75,000 75,000 0
= 22,500
Al 52,500
10 AISIEXAIEEHE2IHIEX 75,000 75,000 0




i

A AMIEX
Hu: ool 2B
CHe: =X LBt (
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
SHUEEERFFELEREREEISES)
75,000,000 75,000
= 22,500
Al 52,500
HOIEXNAE MEZ=OH XS 10,890 12,960 N2,070
== 3,267
Al 7,623
307 2Iz2t0| & 10,890 12,960 N2,070
& 3,267
Al 7,623
11 A EXAIEEX 10,890 12,960 N2,070
OZA=EXAILE HEBEZ2 02 X (20HA)
10,890,000& 10,890
= 3,267
Al 7,623
oo 2sXd 20 FONA 754,627 614,790 139,837
= 301,851
Al 452,776
307 S12t0| & 754,627 614,790 139,837
= 301,851
Al 452,776
11 A EXAIEEX 754,627 614,790 139,837
OBl BSXAS0l ZIHN A (1738)
754,627 ,000& 754,627
== 301,851
Al 452 776
Q! ESXE =0 24412 X & 57,580 166,558 A 108,978
o 17,274
Al 40,306
307 212t0| & 57,580 166,558 A 108,978
o= 17,274
Al 40,306
11 A EXAIEEX 57,580 166,558 A 108,978
OXHQ SRS 24A12 IR (1Y)
57,580,000 57,580
= 17,274
Al 40,306
ZHOH QIO W LB 128,000 114,000 14,000
o=} 51,200
Al 76,800
301 et M= 128,000 114,000 14,000
= 51,200
Al 76,800
01 A& A 252 128,000 114,000 14,000
OZXEOHQI I HiLkEEH|(344Y) 128,000,000 128,000
& 51,200
Al 76,800




2N
X ZH -
L= B

el

AVEl = X Bt
Zojel =NEA
TOjeI =X YK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HAs ZOoHe of=Hl A& 7,000 18,000 A 11,000
< 2,800
Al 4,200
301 LEd = 7,000 18,000 A 11,000
< 2,800
Al 4,200
01 Ml2ZHE 6= 7,000 18,000 A 11,000
OMASEOM 2=28l XI&(5%) 7,000,000 7,000
< 2,800
Al 4,200
ZA=SRNEZ EF 14,904 12,685 2,219
< 5,961
Al 8,943
307 glz2+0l & 14,904 12,685 2,219
< 5,961
Al 8,943
11T MISRASEX 14,904 12,685 2,219
OFOML=EXAE 23(276Jt7) 14,904,000 14,904
< 5,961
Al 8,943
ZOHAIE 29 138,000 20,000 118,000
401 AIEHIZL 20 138,000 20,000 118,000
01 A& HI 138,000 20,000 118,000
OFMAHH S MR 2 202 FRNES
20,000,000& 20,000
OXHeI=X& 25 &4 g L NES
109,000, 000& 109,000
OHMHARES =& E== ZA 9,000,000& 9,000
ZOHAU=SXNEH =& 20,195 4,782 15,413
201 £B-2%H| 19,895 2,822 17,073
01 At 22l 18,395 2,822 15,573
OZMOIATZIAIY BIE AR =g
150, 000& 9H 1,350
O&oel Xrsxt =X 1, 1122 »4000H 445
OFOMI=XRALE AX=AOR2T &N
=g 100,000& 6% <123l 7,200
ORMNOISBSXH +2NHAAAE S &A
=g 100,000& 7 «123] 8,400
OBMASXANS 5o &Hasg
100,000& 10 1,000
02 2324l 1,500 0 1,500
OHMHAESER T S5FHI| RA2c
1,500, 000& 1,500
202 044l 300 1,960 A 1,660




AN ALEI =X

g Foje sxsd

ol FOHOISK LUK (el @2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 = LH 4 bl 300 1,960 A 1,660
OFOM HRFX(7H) 300,000& 300
Zoferel & @At 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
11 AISI S XA E X 12,000 12,000 0
OFOLIe & &AL 12,000, 000& 12,000
M 2 SSHMC THaAmd 32,842 31,796 1,046
307 21201 A 32,842 31,796 1,046
03 QI HE2IHE xR 29,432 28,386 1,046
QXM OISXNE SEX 2 (AMEHL 0=
2x 2 HEAME S) 29,432
] 21,792,000 21,792
-29tl 7,640,000 7,640
11T M3 SXAISEEX 3,410 3,410 0
OZJl& EHEorY, XNMEMAMSUE &4
X & 3,410,000& 3,410
A2ERONO THE ALY 34,452 34,405 47
307 21201 A 34,452 34,405 47
03 QI HE 22X 24,952 23,905 1,047
OA2ZHeEa nsd & A0S e 2
& 24,952
v al:] 21,792,000 21,792
-2dHl 3,160,000& 3,160
11 AISI S XA E X 9,500 10,500 21,000
OAZZMHe Blus, SHME s
9,500,000& 9,500
ZOHXE Hauns £ XE 7,280 9,560 N2,280
307 2I2+0 & 7,280 9,560 A 2,280
1 ABIS XA 2 5 7,280 9,560 ~2,280
OXOIXE EQEZ O, JIFHZT S
7,280,000& 7,280
2 AHZOHR MHEAS 9,000 10,000 A 1,000
307 gl2+tol & 9,000 10,000 21,000
11T ALS S RAEE = 9,000 10,000 21,000
OF2 - AHEOHQ ALSISINE, =Y, =
o= sH 4 Nd S 9,000,000& 9,000
WS THE A 8,950 10, 360 A 1,410
307 21201 A 8,950 10, 360 21,410
03 BIZIH B E2IHIEX 4,470 4,470 0
OLsZHM MEANE 29 S 4,470,000 4,470




SN AT D
HE: Fojel 2NSA
9l FOHQIZX LB

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 4,480 5,890 A 1,410
OusZHe NSHHR HALZSHE S
4,480,000 4,480
ZOHQIEN EHEs 243 N& 2,860 2,860 0
307 glz2tol & 2,860 2,860 0
03 QIZtHHHE2HEHEX 1,860 1,860 0
OZMAHHSHEs 243 N
1,860,000 1,860
11T M SRALSE EX 1,000 1,000 0
OFOHIHAL & Xte X 1,000, 000& 1,000
ZHIFX 2 HE AL 3,800 3,800 0
307 2I2+0 & 3,800 3,800 0
03 QIAHNHE2IHIEE 2,000 2,000 0
OZMA=XZ MHEMNY 29 2,000,000 2,000
11T AR SXAIEE = 1,800 1,800 0
OBOIZRS AMSHERS S
1,800,000 1,800
oAl 243t & 2,000 2,000 0
307 2I2+0 & 2,000 2,000 0
03 IAHMEE2HHIES 2,000 2,000 0
OHMUI2AHN HEMY 2 S
2,000,000& 2,000
STHMHUE SSEN2Y 33,000 33,000 0
307 212+0 & 33,000 33,000 0
Y T ES 33,000 33,000 0
O=sZMes Ae EZsEx =249 33,000
-olAdl S 27,953,000 27,953
-2H (MK XH S) 5,047,000 5,047
Zoie 27 XAAE 10,000 10,000 0
301 LA S 10,000 10,000 0
01 MEIBEE 263 10,000 10,000 0
QFMUEET 22N (dSEMAH =2 &
BiEf2l wH S)(100%) 10,000, 000& 10,000
ZHAUAESEET SHI| & 6,000 5,000 1,000
405 RHoHE S HI 6,000 5,000 1,000
01 AL EZFH S 6,000 5,000 1,000
OSSR SHI| &1
3,000,000 »2CH 6,000
EX0 2200 MBIA(F2EC A 12,960 0 12,960

H

5,184




AN ALEI =X

g Foje sxsd

Sl MOjI=R LUK R CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 7,776
405 XHAHFI S HI 12,960 0 12,960
&< 5,184
Al 7,776
01 AL 2 Z F S| 12,960 0 12,960
OEHMA 2L (27d) 12,960,000 12,960
= 5,184
Al 7,776
MASAMR BXDD0 XH 11,000 0 11,000
=} 4,400
Al 6,600
301 et M= 11,000 0 11,000
& 4,400
Al 6,600
01 Al BE& X 262 11,000 0 11,000
OMASEOO BEID| XA (7H)
11,000,000& 11,000
= 4,400
Al 6,600
O LY BRI 22lAt 49,050 0 49,050
= 14,715
Al 34,335
101 2121 4| 49,050 0 49,050
& 14,715
Al 34,335
04 JIZtHIZ22XNSE S 49,050 0 49,050
S XOHQ EXD|D] A 29 (4Y) 49,050
-Jl23 832,660 x4 x12& 39,968
< 11,990
Al 27,978
-AMSBEEEZ S JIEet2dHl 9,082,000 9,082
= 2,725
Al 6,357
g ZOoHe JIHA A 6,000 9,000 A 3,000
o= 1,800
Al 4,200
301 et M= 6,000 9,000 A 3,000
o= 1,800
Al 4,200
01 A& A 252 6,000 9,000 A 3,000
OLlgdHZe JI™MA XN (109H)
6,000,000 6,000
= 1,800
Al 4,200
Ol mo| AKX HEXZ 3,000 3,000 0
307 2I2t0| & 3,000 3,000 0
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AN ALEI =X
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OtsoALstd & 637,786 439,079 198,707
= 246,172
| 43,330
= 61,317
Al 286,967
Ot= < <RI H & 168,186 80,799 87,387
= 117,730
= 7,568
Al 42,888
301 LEXZ 168,186 80,799 87,387
= 117,730
< 7,568
Al 42,888
01 A3l EE & 56l = 168,186 80,799 87,387
OotsSZ XA X2 (155%)
168,186, 000& 168,186
= 117,730




SA: AEIEX D
M 5YQs OlS=X A

Sol: OIS o2 AT (29 a8)
. - . 4 =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 7,568
Al 42,888
LAOSIHENE (LX) 55,800 54,000 1,800
J| 39,060
< 2,511
Al 14,229
301 LEHZ 55,800 54,000 1,800
J| 39,060
< 2,511
Al 14,229
01 MI2EZE 06z 55,800 54,000 1,800
oggots ds+== X 55,800,000& 55,800
J| 39,060
< 2,511
Al 14,229
YAOLSIHERN A (L 2=dI12 27X X&) 700 700 0
J| 490
Al 210
301 LetBA S 700 700 0
J| 490
Al 210
01 MEIBEE 2063 700 700 0
Ogd=eddiz2t 2R XI& 700,000 x1H x13] 700
J| 490
Al 210
LAOSIEXNZ (L 2HEXR) 5,400 5,400 0
J| 3,780
< 243
Al 1,377
301 LA F 5,400 5,400 0
J| 3,780
< 243
Al 1,377
01 Ml28E 6= 5,400 5,400 0
Ogges U HIUE N
2,700,000 »2H x13] 5,400
J| 3,780
< 243
Al 1,377
YA=5t=a N 2,000 2,000 0
= 600
Al 1,400
301 LB AF 2,000 2,000 0
= 600
Al 1,400
01 Ml28E+06l= 2,000 2,000 0
Oged=dt=s XA 1,000, 000& »2H 2,000




AN ALEI =X

M s ols=N AW
&S otsyATSEH (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 600
Al 1,400
IIEAEL=EAA 109,500 91,000 18,500
< 10,950
Al 98,550
301 LEMZ 109,500 91,000 18,500
< 10,950
Al 98,550
01 M2I2EZE+06l= 109,500 91,000 18,500
OJNEASHLF XA 109,500
OIEPIE AKLYEI 400,0002 <202 * 122 96,000
< 9,600
Al 86,400
-JHE RS otsE3 P
500,000& x3H *13] 1,500
< 150
Al 1,350
-M20lsSESH] 1,000,000& »12& 12,000
< 1,200
Al 10,800
HERE sSsgs N 29,400 34,380 A 4,980
< 2,940
Al 26,460
301 YW 29,400 34,380 A 4,980
< 2,940
Al 26,460
01 M3IBZE 063 29,400 34,380 A 4,980
OJtE Qe ss&8s X (20Y) 29,400
-st& M =l 20,0003 x15H 128 3,600
< 360
Al 3,240
-SZ 9 24| 40,0003 20 *4 3| 3,200
< 320
Al 2,880
-—WE2SH| 200,000 x7H 128 16,800
< 1,680
Al 15,120
-=2E MEas 100,000 1= *13] 100
< 10
Al 90
-H s sl 20,0003 x108 *23| 400
< 40
Al 360
-UEetdsEtEH = 2,500,000 2H 13| 5,000
< 500
Al 4,500
-H==tl 150,000 »2H x 13| 300
< 30




SA: AEIEX D
M 5YQs OlS=X A

Sl OIS ABLT (B9 ®R)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

| Al 270

AANLE M20SE23Hl XA 9,000 0 9,000
6,300

405
2,295

= W

301 Let2H = 9,000 0 9,000
6,300

405
2,295

= W

01 A28 H =0dl= 9,000 0 9,000
OLANRE dE0tsESH X 9,000
—LAEST|2 1,000,000 x1E«6& 6,000
4,200
270
1,530
—HEII2t 1,000,000 x1H+3& 3,000
2,100
135
765

= M W

= MW

LAAE OlsESFEH N 1,000 0 1,000
700
45
255

= MW

301 LA S 1,000 0 1,000
700
45
255

= MW

REEFEEYE! 1,000 0 1,000
OLARE OHSSB2YHl X &
1,000,0008! 1% * 13l 1,000

700
45
255

= HnH

tm
-
He
HT
foh
O
Y
f=}
Omn
>
v
Pl
0
0x
J
I[N}

105,000 70,000 35,000

31,500
73,500

= M

wW
<
e
rc
HL
>
oy

105,000 70,000 35,000

31,500
73,500

= M

o 105,000 70,000 35,000

01 MIBZE
N 2

O&x &

2 0ts NEXNEEEHS

15,000, 0003 7 13| 105,000
31,500
73,500

fol

= M

H
fol
OB
)l
(=)
O

=== 136,800 100,800 36,000

109,440
4,104
23,256

= 0N




2N
X XH: &
o = =

el

Ab3l = X1

=

Off &t 24

=

i
2m

= N H

136,800

109,440
4,104
23,256

100,800

OAlE, IHEAEY 2S5

38Y) 300,000 »38H «12&

I

Ots MtE=g X&(

= M W

136,800

136,800
109,440
4,104
23,256

100,800

36,000

tsEsdEeE N

= W

15,000
12,002
451
2,547

15,000

201

e
iz
Mo
0
=

= W

3,500
2,802
106
592

3,500

01 At 2t 2l bl

2SS 25X HHASE A0 & O
ot 1

OARNMZI A2 1,000, 000&

Ous=zdgtl 250,000& »2H

=z N W = H W

= MW

= M W

2,540

1,040
832
31
177
1,000
800
30
170
500
400
15

85

960

960
770

30
160

2,540

960

202 04l

= M W

1,000
800
30
170

1,000

25 QURET(ZDA)  500,0008 2L

= N W

1,000
1,000

800
30
170

1,000

10,500

10,500




SA: AEIEX D
M 5YQs OlS=X A

Sl OlSolABBAY (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 8,400
< 315
Al 1,785
01 MEI2BZE 05z 10,500 0 10,500
OdZF& deldA HE & 2=l
4,500,000& 4,500
= 3,600
< 135
Al 765
OMHEIAT S S AH I 3,000,000& 3,000
= 2,400
< 90
Al 510
OJIEHXI & HI 3,000,000& 3,000
= 2,400
< 90
Al 510
Bs0tsod=st8H 32,195 26,642 5,553
ASGotsEsdl& 2E012/88) 21,382 17,132 4,250
308 XX EHSOIA 21,382 17,132 4,250
07 IXNHHARE = 21,382 17,132 4,250
OZI=ER0SESHEIS 28 RFES
21,382,000 21,382
ZIE OtsSESsd2I|2 SAN Ex28E 2,311 2,087 224
308 MtXIEHMSOIH 2,311 2,087 224
07 IXNHHARS = 2,311 2,087 224
O&dJE Ol=sESHEIZ BAL S22
g 2E= 2,311,000 2,311

& OlSESdE20|& 21Adl K& 8,250 6,972 1,278
308 XXM S0l ™ 8,250 6,972 1,278
07 HXH2ARES 8,250 6,972 1,278
OZJ& OtsEsdE0I& 1244l XA
8,250,000 8,250
IS OISESH2IN 2 g Az XN 252 451 A199
308 MHXIEHHMSOIH 252 451 A199
07 HXH2AEES 252 451 A199
O&dJE OtsEsdEJ 2 g dxg X
252,000 252
HY2HZH (AE =R D) 258,838 239,707 19,131
= 140,711
< 6,813
Al 111,314
Jl2Zddl(Atsl =X 1) 24,700 38,180 N 13,480

Jl2ddl (At3 =S X1 24,700 38,180 213,480




©OAEI = X
D @AY Z U (ASI =X D)
1238 (AMES A D)

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
201 Le-2d| 17,800 16,700 1,100
01 At 22l 17,000 16,000 1,000
ORA2G AR 22| 17,000, 000& 17,000
02 =224l 800 700 100
ORERB(SIIRBEEE 5) 800,000 800
202 OHl 2,100 17,280 215,180
01 = LH YI 2,100 17,280 A 15,180
AREN JI=2081(20Y) 2,100,000& 2,100
203 R =&l 4,800 4,200 600
04 FN2ELSZ=TH| 4,800 4,200 600
ORN2ZYRF&HI(3020lat)
400,000 x12& 4,800
ol 2 AHI (AL = X1t 234,138 201,527 32,611
= 140,711
< 6,813
Al 86,614
FAHNE OISSSMUIA XA (21248l) 114,927 119,459 A 4,532
= 76,000
< 2,850
Al 36,077
101 14 Hl 100,368 119,459 A 19,091
= 64,353
< 2,413
Al 33,602
03 BRI (RINAHAY)2=HES 100,368 119,459 A 19,091
OOts S e Atell 22l AHS R A ) 2l 24| 100,368
D2z (2HsX1(2Y)/25349, dFARE
(1¥)/2544) 2,150,000& x3H x12& 77,400
= 61,920
= 2,322
Al 13,158
—HEIZZ2SY 16,890& *x3H +x5A| 2t 12& 3,041
= 2,433
< 91
Al 517
-JI232 (AIHIFILXRIE) 203,090 x3H «128 7,312
L= 40,0003 x3H 123 1,440
—ANRSFIOE 90,0803 x3Y¥ x10 2,703
-E 2 F Ol 2,823,710& »3H 8,472
04 HIRESS 14,559 0 14,559
= 11,647
< 437
Al 2,475
01 HA3EE3 4,268 0 4,268




2N
X ZH -
L= B
el

At = X ot

™2 YAY

[ (AtE S X 2tH)
HI (AF2 = X124

B2

0l &t o

i
2m

=

4,268,000&

3,820,000

4,159,000&

= M W = N W

= N W

= MW

4,268
3,414
128
726
3,820
3,820
3,056
115
649

6,471
2,312
1,850
69
393
4,159
3,327
125
707

3,820

6,471

OtS =X LA XI&(2244])

= W

37,203
13,673

2,050
21,480

35,279

1,924

= W

32,452
11,490

1,723
19,239

35,279

N2,827

SH(RIHF) 2224

o
it

3
i
0 4 W

2w

03
o
HU
4>
0o

>
=
4
N
Al

g

|
e
>
= ]
=
1>
oo

e 02
A

15,8003 x1€&

OOts=E X WAL K& (XIS ALS] = XIAH)
BAEI1, 214

1,915,000 x1Z 128

) 284,2303 x1H «12&
120,000 » 1% *
84,2403 x1H *

128
100I
2,639,080 1
*12A1 2+ +6E

=z N H

32,452
32,452

22,980

11,490
1,723
9,767
3,411

1,440

843
2,640
1,138

35,279

N2,827

w
S
=
e
oy
i
o
oy
on

Z W

4,751
2,183

327
2,241

4,751

O
W

2
e
oy
e 4
oo
oy

e
o
it
o
o

1,034, 160&

= n

1,189
1,035

517
78
440

1,189




2AM: A=K
MM HNM2HHH (A =2X D)

S o T o

SH9l: 0l 28l (A5 = X D) CEEEED

SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
O=201d3 22 (AlHl F=0I2) 153,600 154
02 20AUEEH= 1,036 0 1,036
OH, AJYEE 22 901,800& 902
= 451
= 68
Al 383
O, AJQUeBE 23 (AlH =IHE)
133,920 134
04 22X (LI HL)2 2D BEIIBH2E 2,526 0 2,526
o1ng, MHEE= 613,680 614
= 307
o= 46
Al 261
O1DE, MUEEZ(AIH =0I2) 94 ,200& 95
(@)= ESESE== 1,816,050& 1,817
= 908
o= 135
Al 774
OlSE2SdYRIA K| (21214d]) 82,008 46,789 35,219
= 51,038
& 1,913
Al 29,057
101 21 214| 73,259 46,789 26,470
= 47,640
& 1,788
Al 23,831
03 222 (RIHY) 222+ 73,259 46,789 26,470
O0tseEsdeols oA (EHEX2, 2454
/2&64) 38,863
-JlE2g(B8AEX2, 2854°/2564)
2,609,280 x 12 x12& 31,312
= 25,050
o= 940
Al 5,322
MBI LAL(PAZN2, 2254 /2464)
18,740& %1 ‘:‘4*12/\|D+* 24 2,699
ISR (BELIIE2Y) 60,000& x1H ~12& 720
- sEIITH(EHEX2, 28548 /256
) 99,920 x 1«10 1,000
-HAESIIH(EH=2X2, 2554 /2564)
3,131, 1403 x1H 3,132
OotseEsdEEoa oAHH (BAHAERT, 2534
) 34,396
JlEg(8AHEX1, 24834)
2,353,090& x1H x12& 28,238
= 22,590
= 848
Al 4,800
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